SESSION 10  READING COMPREHENSION 
A. More detailed about topics  
1. Main purpose questions
This question asks about the author's purpose in writing the passage. To answer this question correctly, you should refer to the main idea of this passage as outlined in the first sentence.
A question about purpose is asking what the author is trying to do in the passage. You  can draw a conclusion about the author's purpose by referring to the main idea and the organization of details in the passage. For example, if the main idea is that George Washington's  early life greatly influenced his later career and if the details give a history of his  early life, the author's purpose could be to show how George Washington 's early life influenced  his later career. However, the answer to a purpose question is often considerably more general  than the main idea. A more general author's purpose for the main idea about George  Washington would be to demonstrate the influence of early experiences on later life (without any mention of George Washington).
The main purpose ask why an author wrote a passage, The author’s purpose in writing is to 

Sample questions :What is the  author main purpose in the passage  ?
2. DETERMINE  THE  TONE, PURPOSE, 
Other types of review questions occur occasionally in the reading section of both the paper

TOEFL test and the computer TOEFL test. Possible questions of this type are multiple choice  questions that ask about (1) the tone of the passage, (2) the author's purpose in writing   the passage, and (3) the course in which the passage might be used.  
A question about the tone is asking if the author is showing any emotion in his or her  writing. The majority of the passages on the TOEFL test are factual passages presented  without any emotion; the tone of this type of passage could be simply informational, explanatory, or factual. Sometimes the author shows some emotion, and you must be able to recognize that emotion to answer a question about tone correctly. If the author is being funny, then the tone might be humorous; if the author is making fun of something, the tone might be sarcastic; if the author feels strongly that something is right or wrong, the tone might be impassioned. Look at a multiple-choice example from the paper TOEFL test that asks about the tone of a passage. 
Example from the Paper TOEFL Test
The passage:

Military awards have long been considered symbolic of 
royalty, and thus when the United States was a young nation

just finished with revolution and eager to distance itself from

Line anything tasting of monarchy, there was strong sentiment

(5) against military decoration. For a century, from the end of the

Revolutionary War until the Civil War, the United States

awarded no military honors. The institution of the Medal of

Honor in 1861 was a source of great discussion and concern.

From the Civil War until World War I, the Medal of Honor was

(10) the only military award given by the United States

government, and today it is awarded only in the most extreme

cases of heroism. Although the United States is still somewhat

wary of granting military awards, several awards have been

instituted since World War I.

The question:

The tone of this passage is

(A) angered

(B) humorous

(C) outraged

(D) informational
This question asks about the tone of the passage. To determine the tone of a passage, you  should look for any indications of emotion on the part of the author. In this passage, the author uses historical facts, using time expressions such as for a century, in 1861, and since World War I, to make a point about America's sentiment against military awards; the author  does not make any kind of emotional plea. The best answer to this question is therefore answer (D), an informational tone. There is nothing in the passage to indicate anger (A), or humor (B) , or outrage (C) on the part of the author.
Read your book page 139-149
B. Negative expression

1. FIND "UNSTATED" DETAILS

You will sometimes be asked in the reading section of both the paper TOEFL test and the computer TOEFL test to find an answer that is not stated or not mentioned or not true in the passage. This type of question really means that three of the answers are stated, mentioned, or true in the passage, while one answer is not.

You should note that there are two kinds of answers to this type of question: 
(1) there are three true answers and one that is not true according to the passage, or 
(2) there are three true answers and one that is not mentioned in the passage. 
Look at a multiple-choice example from the paper TOEFL test that asks you to find the one answer that is not true.
Example from the Paper TOEFL Test

The passage:

In English, there are many different kinds of expressions

that people use to give a name to anything whose name is

unknown or momentarily forgotten. The word gadget is one

Line such word. It was first used by British sailors in the 1850s and

(5) probably came from the French word gachette, which was a

small hook. In everyday use, the word has a more general

meaning. Other words are also used to give a name to

something unnamed or unknown, and these words tend to be

somewhat imaginative. Some of the more commonly used

(10) expressions are a what-d'ye-call-it, a whatsis, a thingamabob, a

thingamajig, a doodad, or a doohickey.

The question:

Which of the following is NOT true about the word gadget?

(A) It is used to name something when the name is not known.

(B) It was used at the beginning of the nineteenth century.

(C) It most likely came from a word in the French language.

(D) Its first known use was by British sailors.

This question asks for the one answer that is not true about the word "gadget, " so three of the

answers are true and one answer is not. You should look for the word gadget in the passage

and find information that is untrue. Answers (A), (C), and (D) are all true according to

the passage, so these answers are not correct. Answer (B) is the one answer that is not true:

the passage states that the word "gadget". . . was first used by British sailors in the 1850s, which is

in the middle of the nineteenth century, so answer (B) is the best answer to this question.
2. FACTUAL QUESTIONS
It is easy to identify this type of question because it will always have either "EXCEPT" or "NOT" in the prompt. Of the 4 answer options, you must choose which one is wrong, which one has a detail or idea that you did not read in the passage or is stated inaccurately. Unfortunately, picking it may mean you need to read over each paragraph carefully. Try to find the one that says something you cannot recall reading about, and then verify it's not in the reading passage.

Example:

Part of a passage: 
Their demise also resulted in the extinction of a half-dozen species of forest insects and the severe crippling of other animal populations such as the wild turkey: these all relied on the American Chestnut as a source of habitat and food. Affected wildlife attempted to adapt to their disrupted environment by looking to other species of trees, such as the Acorn, and seed-bearing plants for food. This placed great ecological pressure on those species, as none could equal the American Chestnut in its ability to provide a consistently abundant crop of nuts. The problems the American Chestnut blight engendered thus show the ripple effects that can occur within any ecosystem when new elements are introduced in an unsound manner.


Question: According to paragraph 3, all of the following were results of the wide disappearance of American Chestnut trees EXCEPT: 
A.   The loss of creatures who required the tree's resources for their survival.
B.   Overuse of other types of trees by wildlife attempting to compensate for the change.
C.   A reduction in the total output of harvested nut crops within many major American forests.
D.   Macro-changes to the environment in which the trees previously flourished.


Explanation: (C) is the correct answer. The American Chestnut produced lots of nuts so the loss of the trees does mean a loss in tree nuts; however, the American Chestnut was not widespread across all of the United States and there is no mention of its nuts being a harvested crop. Choice (A) is a restatement of the first sentence in paragraph 3: some insects became extinct and the wild turkey population drastically declined due to the loss of the American Chestnut as a food and habitat source. Choice (B) restates what is in the second and third sentences of the paragraph. Choice (D) covers the last sentence in the paragraph: the loss of the American Chestnut caused changes, had negative effects, upon the land and animals within the environment of where the American Chestnut had thrived.

Read in your book page 152-153
